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clear all, close all, clc

dx = 0.005;
L =1;
X = dx:dx:L;

ones(size(x));
:length(f)/2) = 0xf(1l:1length(f)/2);

—
(|

sin(x);

f = (x-pi)."2;

fl = (1:1:25)/25;
f2 = (25:-1:1)/25;
f3 = -1xf1;
f4 = -1xf2;

0° 0° 0° 0° 0° € ° ° —h ° —h —h

f = [fl f2 f3 f4 f1 f2 f3 f4];
fFS = zeros(size(x));

AQ = (2/L)*sum(f.*ones(size(x)))*dx;
for m=1:100
fFS = AQ/2;

for k=1:m
Ak = (2/L)xsum(f.*xcos(2xpixk*x/L))*dx;
Bk = (2/L)*sum(f.*xsin(2xpixkkx/L) )*xdx;
fFS = fFS + Akxcos(2xkxpixx/L) + Bkxsin(2xkkxpixx/L);

end

plot(x,f, k")
hold on
plot(x,fFS, 'r——")

pause(0.1)
end



66600\36 e l/\D\UQ lCOs’ o\V\OL 'S ) we W\o\g

-\-va +o werke Fouvriee Sentes in Com@\ex Lons
2 an X .
‘\\'(XXZ Z Co € whera Ch = Kpt B

2 (0(,\4- «'@,)(&99@%3 . 'isw~(~ax3>

nz-9

Tt

= (0404- i@°> + E‘, [(o(_n H'(S_,,) (c@(nx\- 1'5.k(n>0> + (oc,,h'(;,.) Cw:(rv?) + '\S\“(f\’b>}
n=

=(Ke*iGo) + i [(o(-n* <, ) coopp) + (g, -6, ) 5( "x)]
=)

* i Z [(én*ﬁn) coanX) — ("(-n'dv\> SMQM{Z]

nel

TC L6y 5 ceal-unlaed | Hen B =-p,




SO we l/\o&@ @znx 'por REZ (‘Ccr in—hgu\ n>

AS o ‘00635 —Cor erioolf¢/ cowx@le_x ~umlueak -C\mc('\’ov\j
on }‘/\‘k‘mxlav\ [O' 3\-"—] .

\/—\/\/\/\/\/—\/\/\/

a X/
A\so,

e boasis £or LQ(E 0, L-])

Modetion: L Ta,67)

Tl«e Sfo‘ce o«c c\u Squent 'V\""eﬂ‘*l"lc —pvwc‘HOnS on XGEAJ‘oj.

%
. . a
Squens: Integale . S Lot Jot = Liite.,

o e

E’(’_”r[e’ o‘p Nnon - Sqvene -M{'evmu&. -Q/nmlnb/\ : -P(x): '/x en [o) 11 .

Q0
g¢n: @1’\)%:.@ " OC:’—/‘A—O—qu—\-W\ ’[’MV\OL\EV\. 1()0\5)3__‘

o . . T [ ) ’)‘(m—v\)X i
X =1aX 1 (m-n)x
<¢M/ Cﬁn>= j &, e O[X.: J‘ 6 0(-X 6

= - 7 m-n) =T
aner fneo'v"’-
_ O £ wm#n
T f om=n
C-valved ...z:i/:“ z(bm/ qg” > = &T 5

\

m
T | \
o> =5 4,089 ax Keonecken DoHa
T




A Cown'a,— Se,r{e,s i LSUS+ o Ol/\o\f\gg/ O-C
coocdhinetes of & -Cunc'"\‘mf\ F(x}

'\H-o AN in-a‘m"l'e. o(\'mevxsiov\ou\ o+ oo&ovw»\

—anl-\‘ovx S@a\CQ, 5630~V\n€(A LA? Sines & COSWNLS

; X
e Cfbn = 61 = m(hx)+ 3 sia(nx)

‘F(x) =§n< 69, ¢n(x)> ¢n(")

N /8 (VIS COOro{w\’l‘c SDS”"CM:




2/2/15 8:59 AM /Users/sbrunton/testOrthog.m 1 of 1

clear all, close all, clc

0:.001:1;
k=1:100
sin(pixx);

g = cos(kkpixx);
ksum(k) = sum(f.xg);
end

plot(ksum)

% sum(f.x*xg)
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